
Prénom : ...................................... Date : ............................................................................ 
 

 

Les quatre opérations (04) 
 

1./ Pose en colonnes et effectue ces quatre opérations : 
 

 

953,5 + 354 + 488,07 = …………………… 

 

 

863 – 489,45 = …………………… 

 
 
 
 
 

 

 

950,47 x 12,3 = …………………… 

 

 

9 076,8 : 12 = …………………… 

 
 
 
 
 
 
 
 

 

 

2./ Pose en colonnes et effectue ces quatre opérations : 
 

 

47 682,47 + 28 004,8 + 36 752 = …………………… 
 

 

9 543 – 861,54 = …………………… 
 

 
 
 
 
 

 

 

7,614 x 0,15 = …………………… 
 

 

81 460,5 : 15 = …………………… 

 
 
 
 
 
 
 
 
 

 

 


